NOTE:ALL MATERIAL COMPLIANT ROHS STANDARD

[ Y s [ s S e [ Y e Y s [ e

o O O O [ cn— ) cn—" I an—1

A(x1)
M4x14 (x4) M5x14 (x4)  M6x14 (x4)  M8x15(x4) D5 (x4
M-A M- B M- C Mo e
A L —gw
A(xd) W-B (x4) W-C 1)

REVISION INFORMATION

Rev. [ Rev. Date | Modified By Brief Description

465mm

20.5mm

wwozl

min24mm-max438mm
) g
O O
O O
O O
O O
O O
O O
& o o
E o o
ol D o D Co D C Do op CcC—o
g o :
O O
s o o
g £ o o
g o o
N £ o o
€
g
g > Jd D CD D CD D CD
E % %
] B H

24mm

LANShack

Sales@LANshack.com | 888-568-1230

5lolole

PART NAME

SPECIFICATION DESCRIPTION

QT'Y

UNIT

Unless specified on the
drawing,tolerances are
per the follows:

+1
X +0.2
XX +0.05

DESCRIPTION:

| DRAWN BY Fixed TV Wall Mount

| DATE:
2021/2/18

|CHECKED BY || SHEET 1of1_|[ITEMNO. WM-FTVM-32-55

| APPROVED BY

|| SCALE 1:1 ”REV.OO ”UNIT:mm ||-@——E-




